OREC %{TNo. SP853—02

SR=w G Ha s

ANA B —FT —

SP3853

2
2
&
i
o

T

|
SP853 0353—AAAAN
(H W) BRES U LTIEEN

Fig 1 NURAER: « o 0 v o v oo o v oo 1

Fig 2 BREOER . « » « ¢ ¢ ¢ v v o v v o o o 5

Fig 3 I TG UEf e e e e e e e e e e e e 9

Fig 4 MEGHR « « « ¢« o o o oo oo v oo 20

Fig 5 TuPU e o oo oo v oo oo 23

Fig 6 ﬁx\/l/lggf;fﬁ .............. 24

Fig T T a e oo e e e e e e e e e 25

W F—1r vz

2024% 48 16H FRIT



ZPEREEDAFRHIC DT

1. BPE@EFRDIBRKICDOULNT
TOEB@ER( VU NG DR SRR SEBR SN TLET,

2. BEERDEHFICDONT
BFHEOHBREEAND L, ZETIEAOHHEHOREUES(CLOT. EREROIRES.
Bmi. —aHEDOEHREZ. BRIFlERNSHRENITES0N.

3. EPSRMDIEBRRDIRIR 4. ER@ESICDOLT
RHUESZFLHBIBETCRRLTHNET. BRES(E. ROBECHRO>TVET.

(f51)

36~42[F1vtzwv ks (12x5. 50-6) BmES ERI-R)-EMIId—-R)
36 [H1% (12x5. 50-6) O000-00000
37 (FAvIvE> s (EEI—R)- BMIO—R)
38 [R+JL (12x5. 50-6) OO0O-0000-000-00
39 [/R1JLIRX Z2HEEE | 89 -0000-000000
40 |[ABRILEMB8x16 #EEAELR 8 3 -0000-000000
41 |[ABERILEM8x20

42 |AAFvE (SW) M8

5. BBEEXICDNT
BmE. £TCICE1 -5 -—TEEINT\DR. TEIXOREHES. BnEsS. Pak. BEZ.
15 (CEPmES(FAMEIC. ZRALTZESN.

6. ARFEEMM{EL /S EBanDARFEEAT
DTUEMREm. ROSHFERTL NIV Fv RE)DTEX(E. BRAINRKEFEHTHEANLET .

7. @ERWCONT TSR - BHT > DFR)
BERDTIL I 7Ry MIFEDZEZRLUTNET,

OR A—LvIITSUFK M SVEL IO
IA ISEKIZ TSR K hoHFIoOtH
YB PERZTSUR R AEY IO HE
H RO T ATRR C GRAT DR

8. h5—RTL——8

HaEs iR HaEs iR
89-9990-110-10 | RFL—(F—Lw¥ LwkCF) [ 89-9990-140-00 RTL—(T)Lii—)
89-9990-290-00 | RTL—(F—Lw¥ HRITAF) | 89-9990-190-00 RIL—(F—Lvy JL—)
89-9990-130-00 RIL—(F—Lvy TIL—) 89-9990-200-00 RIL—(ZF—=ST75 =)
89-9990-240-00 RIL—(T3v9) 89-9990-270-00 | RFL—(N\—FE=wHJ1—)
89-9990-280-00 RIL—(FHA4)




No.SP853-02

1725\ )\ R )LER 1/4 i%&’\

15 |89-2511-000220 EHALE&HER 22 1
14 [89-1713-080003 EREEL 8X22X1.6 1
13 [89-1712-100002 EREL 10X21X2 1
12 [89-1711-060002 EREEL 6X13X1.0 1
11 |89-1563-080003 IMNBEUFYEEry T M =40 1
10  [89-1113-060452 7 A7RJLRET) M6X45 1
9 [83-1310-374-00 AZALT Y v— 22X32X1.0 1
8 0353-10501 \VE)LEERIRCMP _H 1
7 ]0339-71300 FFEETAY— 1
6 [0339-10700 N\VERILEIERILE 1
5 ]0339-10401 O—/\KJLCMP_ B 1
4 [0334-75100 Liv—-%12£10 1
3 [0325-1140H INUR)LBHEL /A— CMP_ AL A% 1
2 |0208-12500 L /N—R TG 1
1 0038-70300 EEFRUFvE MB(RL—ME) 1
EH5 B & ' B B & 4 EE E &

-1-



No.SP853-02

2/25| )\URLER 2/4 ﬁ%ﬁ’\

13 [89-1711-080002 EEE 8X16x1.2 ZOA—F 1
12 [89-1144-060122 +F 7t R ARILSPW.SW)MEX12 2
11 [83-1515-177-00 Tviatyk 6 2
10 [0353-70400 BEAUFvE (EL—HE) 1
9 [0353-10701 O kA—)L/ARILP B 1
8 [0339-73400 LA——X112 1
7 0339-71900 T 1 AAYFSP 1
6 |0327-71110 AOYRILT A —(Y) 1
5 [0314-74200 JAXY—HAK 1
4 10314-1080H FTUS5VFL/INA— CMP I AR 1
3 [0229-74300 dLFxvyT ¢4 1
2 [0229-13100 EIL L20 2
1 [0208-12600 HS5YFLIN—RTYY 1
EH5 B & ' B B & 4 EE B &

-2-



No.SP853-02

3/25

INVRILER 3/4

KA~

19 [89-2132-060002 REGRITIEDHF) 6 2
18 [89-1750-080002 INREE 68 1
17 [89-1713-060002 EFEEL 6X18X1.6 1
16 [89-1711-080002 FEL 8X 16X 1.2 VAA—k 2
15  [89-1711-060002 EREEL 6X13X1.0 1
14 [89-1551-060002 UFvk M6 1
13 [83-1565-111-00 RILE(FAHFHAFE)M6 X 16 1
12 |83-1493-198-00 UFvk M6(Ay4) 1
11 |83-1310-429-00 L/N\—iEY 6 2
10 [83-1210-484-00 BfE/\>FJL M8 % 20 1
9 [0353-71200 TR DAY — 1
0208-10630-C NRILT) YT 1 X@NT )T DH
8 |0353-10101 T7v/N—/\K)L CMP H 1
7 ]0339-73500 L=y B 1
6 [0339-71300 LFTTFTEEIDAY— 1
5 |0339-10800 +FTFTEAL/N\—CMP 1
4 [0339-10600 &L /\—CMP 1
3 |0305-70200 L/ A—FvyT 1
2 |0208-13100 259vF L I \—EICMP 1
1 |80-1020-263-00 a2 hA—)LLIN—BR T H 1
e nel B & B B B & 4 R {& =

-3-




No.SP853-02

4/25

INVRILER 4/4

KA~

89-2181-060142

FEEEY 6X14 (vF) (VAA—hF)

89-2132-060002

RE>URITIEDS) 6

89-1711-120002

qiré% 12.5X22X2.3

89-1711-080002

FEREE 8x16X1.2 HOX —F

16 1
15 1
14 2
13 1
12 [83-1565-111-00 RILE(FAFHAFE)M6 X 16 2
11 [0353-71100 EFDAY— 1
10  |0353-70400 EEAFUF YR (EL—RE) 1
9 0339-11600 N =R L /N —EX 1
8 [0339-10910 1E# L /\—CMP 1
7 [0339-10511 SKFJL/AVRLCMP B 1
6 [0334-75100 L/ A—=F1JE10 1
5 [0314-71810 FA79S5YFIANY— 1
4 ]0339-71400 NSRBIV — 1
3 [0219-10800 LAN—Z /AR 1
2 [0216-10400 a4l /\— 1
1 |80-1020-263-00 A ka—)LLAN—BRR TS 1
B B & ' B B & 4 Bk & =z

—4-




No.SP853-02

5/25

ERENER 1/4

KA~

o= o . D2RBDEE®DOM
0208-39201 FSATFI—2/r—AASSY H vk 1E/S IA YB
0208-3920G RSATFz—27—RASSY %k 1 %@@%@g?
10 |89-6512-035074 FI—2 #35-74L 1
9 [89-5221-020000 0>y P20 2
8 |89-1135-060402 7R JL(TT-SWM6EX40 2
7 |83-1020-361-00 AZALT v v— 15X24X1.0 2
6 |0208-71200 ASALT YL v—DC 2
5 |0208-32420 TARS—d L 2
4 [0208-32110 EOL L772 1
5 |0208-31911 KSADTFI—25—R 79k B 1 IAYB
0208-3191G RSATFz—5—R 7ok £ 1 OR
2 |0208-3182H RFSATFI——R A2 CMP AU A4 1
1 ]0208-31700 FSA4JE11TRTO45 vk 2
EBE B & & B & A ; & =

-5-




No.SP853-02

6/25 | grmyan 2,4 T~

9 [89-5121-122207 Z4)L>—)L UE 12.22.07 2
8 [89-3510-012200 DUTJwS a1 12.20 2
7 [83-1515-112-00 AR ILESW 8T AV S7)M6X14 4
6 |83-1020-148-00 RAZYTEAE M6X14 4
EXEHER 3/4
5 |0353-3910H RIS EEHASSY(853) H A4 2 | @@EQHB®tE v
ME/ &
4 |0353-3020H BIERFEERCMP A AR 1
3 |0353-2030H FSAJERILE —CMP AL A% 1
2 [0202-32800 AR —)L 19 1 2{&/&
1 [0202-00600 K>A4J%h B 1
&= B & B B B & £ [EEN B =




No.SP853-02

1/25

EXEhER 3/4

Kk~

19 [0339-71400 NSRBIV — 1

18 [89-5230-080000 —ILIyir— 8 1

17 [89-2521-000100 EELEHE 10 3

16  [89-2181-060142 FEEEY 6X14 (JVF) (O A—H) 1

15 [0287-32000 AF—)ILFxF—tyr(F—(MAL)5X18 X 4) 1 WE+vhk)
14 |89-2132-060002 REGRITIEDHF) 6 1

13 [89-1712-120002 EESE 12.8%256%2.3 2

12 [89-1711-120002 FEES 12.5X22X2.3 1

11 [89-1541-060002 AT YRSW) M6 3

10 [83-1515-112-00 AR ILESW 8T AV H)M6X14 4

9 |0353-3920H FI—2—AASSY(853) H1 AR 1 ME/ &
8 |0353-3910H R /A EEHASSY(853) H A% 1 ®@q§tj )
7 [0353-31200 WEFBT7—LRT)Y 1

6 [0353-30400 BANHE ZARH/IN— 1 AME/ &
5 [0353-3030H EERMERCMP H AR 1

4 [0353-3010H RN JEEHCMP_H A4 1 ES
3 |0208-3220H WERBEIANV—T—L 1

2 [0208-31000 INRIUF Y MB(F ¥y T Av) 1

1 0202-32800 FAR—)L 19 1 28/ &
 mel B & B B B & 4 B & =

-7-




No.SP853-02

8/25 ERENER 4/4 ﬁ%ﬁl\

13 [89-6512-035054 FI—> #35-54L 1

12 [89-5121-122207 A4 )L —)L UE 12.22.07 1

11 [89-3511-015100 DUJw 2 15.10.23F 1

10 [89-3115-060034 ~71)>4 6003 2RS 1

9 [89-3115-060014 ~71)>4 6001 2RS 2

8 |89-1135-060182 AR ILRTT-SW)M6X18 3

7 [89-1135-060122 FNAARILRTT-SW)M6EX12 1

6 [83-1020-361-00 25 ATy — 15X24X1.0 1

5 [0353-39300 EEHASSY 1 BEBIASSY TOD A A
4 10353-3060H FI—2T—AACMP_HU AR 1

3 10353-3050H FI—2T—ATILCMP _HU AR 1

2 [0229-34200 A4 )L —)L MUD 15X30X10 1

1 [0202-30500 9T R7A45 vk 1
TS B & ' = B & A R & =

-8-




No.SP853-02

KEA~

o 1/11

»

2ya

9/25|=

e
HE
it
14111@
o
=
(@]
ox
._WNA b
%4.”.\& og
X158 .
=N
[~=X
.P.PDMV\.U\ Ho
B 4|2
NN Gy
N[N
N |
RN RSN ENRY
Z|17 -
._/._/\\IP=\7
iy
olo
717 L
™| oo
<|<|o|o|o
—|—|o|S|—|-a
| _603D_H
NE=1t=1t=1l=]
O|AN|N|O|N
<o T[T
||| M|00|2
| |1 |w]|lofHo
NN
SEEEE
i




No.SP853-02

10/25\ Sy avEl 2/11

2 \ /)
:—'.'/
IRIK

Ol

KA~

0353-71100

IEHET A —

89-2150-050180

F—(f4)5X18

89-1425-050102

FNATUTRILEMS X 10

89-1156-050102

9 AR RN R OMEX10 (SW)

89-1144-060253

- o AN A AR )L R (PW.SW)M6EX25

83-1761-126-00

BE {5t 7N AR )L (BT)MEX18( A 47)

83-1482-311-00

FEES 6.5X22X3.2

83-1210-684-00

ANE B sl

FA LR

83-1020-198-00

mAFvk M6

83-1020-148-00

INARZYTRA M6X14

— ] — ] — ] — ] — ] — ] — ] —
el DS (2 EN 3,1 1= BN 1<) 91 P b e e B ] Py e

—_ == N === NN = = =N = ===

0353-01600 S &E L /\—SP

0353-0130H EEYEIR HAZ
0305-70200 i

0287-01100 EFFFITT—LA
0229-06100 EHDAVY—#z
0229-01800 EHFRLRATYLS
0208-40120 FyhyHRT—)—

&3 B & B B B & A [EE E_ &

-10-




No.SP853-02

11/25\5\\}93,‘/%'3 3/11

KA~

7  [89-5121-122207 A4 )L —)L UE 12.22.07 1

6 [89-3511-012100 DUJw a2 12.10.20F 2

5 [89-3511-010100 DUJw<, a2 10.10.18F 2

4 |89-1254-100122 BN RAARILE M10X12(60E) 1

3 [83-1035-148-00 RAZYTEAE M6X18 6

2  |83-1020-349-00 #il/\vE> 10 1

1 [0353-00200 Syl 3av4y—AR 1
'S B & ' 5 £ B I =




No.SP853-02

12/25\ Syl avEl 4/11

KA~

5 [83-1020-355-00 AF5ART W v— 12X24X1.0 1
4 [83-1020-351-00 A5 AR — 10X18X1.0 2
3 [0353-00900 28032-34T X+ 1
2 [0353-00700 11-13T XV 1
1 [0326-01900 <7 —LCMP 1
'S B & ' = B & A I i =

-12-




No.SP853-02

KA~

wia R 5/11

=
-~

13/2%

e ‘\\\\!
N §

e

HE

Y O

|

~
S

wmaﬁ
[ee]

|8

o [? | =

S| =
ol Y
| h\y
3l &
|| D
|
L el 2 X
Y= =
NHH[E| X

iy

i
ololo|o|o

={t={t=1l=1t=1"

56471Dn—
= t=ir=1t=1p=
TITI2TIT

N M|O|0|5=

Bl |v|o|o|Ho
DD |M|N
I=1t=1t=1t=1t=}

i

-13-



No.SP853-02

KA~

8 6/11

»

v/

=
-~

&

14/2%

S B
~—
]
ol b R
<r|co
1% o
SV (=) Og
mn
~|w©of— T |Ho
SIS LY (v
© 5:/:/ A N
JEE S D S
7.@.@._MHJ_UWW_I_A
A (YA WA N [] 04
QI RINSIC
PNEEIER] | i inf#f o
¢ HL@ A < [ X e[
iy
<|o|lo|ololo
I G I k=11=} il
o||N|—]| I ]I
olo|o|o|wv|—
ol|o|o|v|v|v|o|o|o
= t=t=I=1 Gl el f=1=][=] =
T|TIT|II| |1 |o|<|o|0a
e B B [=1[=][=]=] b [=]
|| —|OO|N|N|O|O|O
—|w|wv|—|olo| T|T|1
m|AN|N|N|—]—]|Mm|~|0|=
NN DN DN R e =1
ol|o|o|o|o|0|s|N|S
kI A e =1 t=1I=)
987654321_”__&>

-14-



No.SP853-02

KA~

R 7/11

*»

I

=
-~

15/ 25\

e
HE
e
Bl Bl B Bl B o Bl B Bl I
Bl
N !
=
<
=~ WDM
o 1L [X]
_ wsl\/M & 2
3 ._M.PXAAnn
)%bﬁw___
_”J« /Wzﬂys/mm
AN A = TN L Y Y
)/H// AN
| [SINERE SR
Mo X [EHHL |
iy
sisleRls| | | |
oSle|ol=|1
(@] ifp] (o] (o] [oe)
o<t |B|o|<|olo|o
=It=1t=1t=1Et=1t=]i=1 =
|TIT|T| L |=|<|o|0g
O|N||—|O|M|—]|+—
MN|IAN|[—|O|N|O|O|O
A|N|—|N|O] | | |
|||~ |—|r~|r~]|co|x=
Cl 0 || eo| S fHE
DD |DD|O| M|V |AN|N
||| |O|O|O|O
87654321%

-15-



No.SP853-02

KA~

8 8/11

*»

I

=
-~

16/2%

L
= e
S
o) HE
&
N e S R e e LN e
Ji
QO
2D
U o
VI
) |
(%) Q ag
A XDI
& ooMb/
N ZoIN |15
X| (o[ 5MOX] [
o 14
EHERSNRE
._u/G.._M@F/RH/
AL [HEI S R
NRR R
e, z |=. e,
R BIB NI
11| o {|1=| S| R|H
iy
olajo
3|87 L
o|o|—
o|x|o|—|—|o|o|o
s =1=1t [=1l=1l={[=] =
—|T|T|1|o|lN|o|<|0g
o|l|o|lo|o|=|wv|m
oo |o|—|o|o|o
TNl | TT|T
DO |||V M| |O |2
1] 1] |ouv|N|N|HD
M| o|o|o|[d| NN
= A = =1 l=1=)
~|o|wv|s|m|~ 1.mﬁ

-16-



No.SP853-02

17/25\ Syl e 9/11

@
0
&
(&
(15

KA~

12 [89-3111-160054 7Y% 16005 1
11 [89-3111-069074 7YY 6907 1
10 [89-3111-060014 7124 6001 1
9 [89-2512-000280 S HIEHEE 28 1
8  [89-2511-000120 S &HER 12 1
7  [89-2511-000100 gHAIEOE 10 1
6 [0327-05400 20T RN)LFY 1
5 [0327-05300 30TARXN)L¥Y¥ B 1
4 [0327-05200 S0TAXNLEY A 1
3 [0313-00100 IV F R 1
2 |0229-05500 EdRyY R 1
1 [0208-00210 ftdEm A 1
E5 H & ' B &R I B &




No.SP853-02

KA~

VER 10/11

*»

I

=
-~

18/2%

&

E
111211@
ol
o
o
o
S o
~
~—
Ww|om|m X =
Ha
DRSSk
Alo|o B
Il“ %4 ﬁm‘l)
NN
?/x/x/ eAB
NI
+[< < K|« fE
iy
21313(8] | |ue
olo|o|ls
N =]l=)
~|o|o|o|olo
e [=1l=1t=]1t=]]=] =
1| T T|T|—|o|0g]
——] - —| N
AN||—|—|O|O
—|=|—=|o|T]1
B|(m|m| N0
0] o ]HE
olo|o|o|0|w
IR =11=)
654321=_h

-18-



No.SP853-02

R~

B 11/11

w3

19/25|=

fi&

31121221%
~
~
=)
=
~ f
I
2w <
m”uumu"w L o2
N H
SN S| =
B\ =][=)
w2 =] =[N |5
i Te) Ho
X[D|3]ails|K[B(X
Y FEN PR hal et (7<) _
~|>~|>~
e
INNRENGR
AN NE[A
DDA D DKH|m
N N N Y T A
AIhnhs MNEEI'S
Ll 2121, 121 ¢
Ke[Hs|alal< 1L
iy
< |~|~|o|o|<|o
o|lo|o|o|o|N|wn %w
< |O|N|[+—|—|O|™
| MN|N|O|IN|O
O|~N|AN|+—|— |||
o|—|—|o|o|o|o|d| a
(| T|T|T|T|=|0a
ofw|—|—[—|—|N|O
NN —=[—=[—]|—=|D
—|—|— ||| —|©| |
IO |M|M|M|AN| M|
Ul O ] | e
[223K=2]1 (=21 k=21 =21 =] =21 ko)
00|00 |0|0|O|0|0|O

-19-



No.SP853-02

20/ 25\xuﬂua=rs 1/3

KA~

0339-40501 ToavF—LB ASSY H 1 D1fE 11E
0339-40401 F23avF7—LA ASSY H 1 A1@E (92/&

21 |0314-71810 FTA2059F )4 — 1

20 |89-3510-018200 DUJw>a 1820 1

19 |89-3510-012120 DUDwia 1212 2

18 |89-3115-060014 AT 6001 2RS 2

17 |89-2512-000280 SNHIEOHEH 28 2

16 [89-2511-000120 SHAIEOE 12 2

15 |89-2132-060002 REGRITIEDHF) 6 1

14 |89-1750-080002 NAESE P8 1

13 |89-1144-060122 +F ot AARILFPW.SW)MEX12 2

12 |83-1830-368-00 ASALT Y v— 18X26X1.0 1

11 |83-1830-353-00 ASALT v v— 10X26X1.0 1
0353-40101 N)Lhhn— B 1 YB

10 [0353-4010G N)LhHN— £ 1 OR
0353-4010H N)LhH/N— H AR 1 IA

9 [0339-70900 VA LR SA-23.1 1

8 ]0286-71900 INBYFRE SV R(SW) M8 1

7 [0208-41200 FiavJ—l)— 2

6 [0208-41100 NJLMRZ BdRILE 1

5 |0208-40720 N)LREZ 1

4 |0208-40531 Fi3vF7—1Is BCMP H 1 XTIkl

3 |0208-40431 F3vF7—Is A CMP B 1 X Tkl

2 |0208-40310 Tia iR 1

1 0208-40221 F+427—1)— H 1

ES B & ' 5 B & A I & =

-20-




No.SP853-02

21/ 25\xuﬂua=rs 2/3

KA~

0353-80200 21)—F 47ty k50W 1 %@@1@5@3@
0353-80100 2)—FA4271R)L YW 1 |@B0BWtyr1E 9D
21 [0339-70200 FTAOT4RVBEEILER 1 XyhIEEENLL
20 [89-1750-100002 INREE $10 2
19 [89-1611-100042 INEIFRA YR MI0 1
18  [89-1611-080042 INEUFRAF Yk M8 1
17 [89-1581-060042 EEfTR SR M6 8
16 [89-1390-060182 AERILE MEX18(ZAA—R) 4
15 |89-1137-060172 ARILMPW) M6X17 2
14  [89-1137-060152 ARILMPW) M6X15 2
13 [83-1035-323-00 JEEE 10X32X3.2 2
12 |0353-70300 YA ISy \— 1
11 [0353-70100 SP2Y—4+42W 8
10 |0353-60300 HYARI25yN\—HZ 2
9 [0353-60200 7 I59/N\—H—F 1
0353-6010H O—A!)—H/\—CMP 7 AR 1 YB
8 [0353-60101 O—4!)—Hh/\—CMP B 1 OR
0353-60104 A—A'J—AhH/\—CMP </ )L/\— 1 IA
7 [0353-20000 F+A47¥ v IL—L ASSY 1
6 |0325-60210 A—A2)—T14XJCMP 2
5 [0305-70900 A 7B ARILE 4 e
. . R A T7EH(Z21E
4 |0208-73200 Uy tM10(Frvy T #IB Av9) 6 B L = 4B
3 |0208-73110 J5v\—3Z 2
2 [0208-70110 759/ — 2
1 [80-1020-719-00 INEAYTEA L M8X18 4
B B & = B & A E%k & =

-21-




No.SP853-02

3/3

KEA~

80-1035-992-00

47'1) ZNo.00(100%4 5 Lx)

FATXYIL—LEA BRE100g

14 |89-5121-153007 A4 )L —)L UE 15.30.07 2
13 [89-5121-122507 A 4JL—)L UE 12.25.07 1
12 |89-3115-062024 74 6202 2RS 2
11 [89-3115-060014 714 6001 2RS 6
10 |83-1035-148-00 RAZYTEAE M6X18 10
9 [83-1020-148-00 RAZYTEAE M6X14 3
8 0353-20800 >4 J%HB 1
7 [0353-20700 4 JEA 1
6 [0353-2050H NESFHEIL—LCMP A AR 1
5 [0353-20200 FA42x¥VvIL—L B 1
4 10353-20100 FAI7XVYIL—L A 1
3 [0208-71100 ASALT v v— 12X18X1.0 4
2 |0208-50910 40T 7AKJL¥Y CMP 2
1 |0208-50810 40T F147%¥ 2
e med B & & B & A ‘ & =z

-22-




No.SP853-02

23/25( 1

A

v

\i
\i

& 1/1

KA~

0339-08000 FS.L 7 —RASSY GBWtvE
0327-08700 fhiRd L EASSY D®tvk 4E/ &

21 |0327-71110 AOYRILT A —(Y) 1

20 [9001-0360 GEH802 1

19 |89-2512-000420 SNHIEOEH 42 1

18 |89-1750-060002 NAREE $6 2

17 |89-1136-060182 FNAR WMTIT-PW,SW)M6 X 18 4

16 |89-1135-060302 AR JLTT-SWM6EX30 8

15 [89-1113-061052 FNAARILNET) M6X105 4

14 |0339-74900 ~71)>4 EC-6004LLU 1

13 [0339-04100 RSLT—X 1

12 [0327-71400 NABZYTEAE M6X12 1

11 |0327-71300 RLIEA 1

10 [0327-71200 A4 1

9 [0327-31200 IO A#RY 1

8 [0327-04400 HyT1)2 - TLCMP 1

7 |0327-04200 hyIULy 2

6 [0327-03300 Hh5—Y 4

5 ]0327-02300 25y FESLCMP 1

4 ]0313-09800 Y {1+ XA T—CMP 2

3 |0313-02500 E/GHEY{F1FCMP 1

2 [0208-09910 E==FN 8

1 |0208-09700 BRI LA F— 4
ES B & ' 5 B & B {i& =

-23-




No.SP853-02

24/295:)L85 1/1 RiEA

> >
© 2

—Sco>uay

=

v
L]

sPOI<—%
0339-75500

UIMOM u3aids

W

avkA—ILSNIL
853(0OR)
0353-72100

e FHREETIF
TUBALY LI
OFAITFPRIC

l o RMRBICIER
n
AFASAL o RUREMENR

FATER-BET—Y
0339-75200

NURILIRART—%853(0R)  0353-72400

#aimA4'50:1
0339-73320

AR | N P el

3 EALERSOR
el gnr | LY 3
A7)VERERE RS

IVOUEBINIL
0339-75400

sy < .
0339-74800 , - BIZESNL
(BE 4P & 0353-73200
WEES LEET
EHL|SIL
0353-73100
S— ORECOTY—%B12
=y 0339-75800

0 ~
RTEAI Ty FREAZMTS
HE OETST(FIIHFFHELEVIE)
O s srrs rmon s

—ams—
| M
~ 1}
MRROTMBIE | RORBLTELAP
MEREMET S | LRUISELTHETD

o)

< e
RORBCEEL | BDTFHERME
MIOESERYRC | FRATS

T AEZEE

HAOE ML bFob | BERRBTREN/—
B AVEOURRTE | ERUNITD R E
T
a2

ZEINILSP .
03D397—75100 ORECAIY—%4C10

0339-75700

~24-




No.SP853-02

25/ 294 F2av it 1/1 i~

5 [0208-83000-02 ByHEGHEYE 1 0RO
4 [89-2521-000080 EELFSHER 8 2

3 [89-1711-100002 FEE 10X18% 1.6 4

2 |0219-61100-00 ik 2

1 10208-83100-00 e Esg JL—/./\{1J CMP 1
EE B & F B B & £ Bk i =z

-25-



20224E10H 11 B 84T
202344 H 28 H ET1 P6, 7, 23 EFE

202444 H 16 H WET2 P25 B0



	表紙SP853-02-OR
	1-ハンドル部
	フォーマット（1機種）

	2-駆動部
	フォーマット（1機種）

	3-ミッション部
	フォーマット（1機種）

	4-刈り取り部
	フォーマット（1機種）

	5-エンジン部
	フォーマット（1機種）

	6-ラベル部
	フォーマット（1機種）

	7-オプション部
	フォーマット（1機種）

	SP85 改訂履歴-00
	改訂履歴-SP853


	Button1: 
	Button2: 
	Button3: 
	Button4: 
	Button5: 
	Button6: 
	Button8: 
	Button7: 
	Button9: 
	Button10: 
	Button11: 
	Button12: 
	Button13: 
	Button14: 
	Button15: 
	Button16: 
	Button17: 
	Button18: 
	Button19: 
	Button20: 
	Button21: 
	Button22: 
	Button23: 
	Button24: 
	Button25: 
	Button26: 
	Button27: 
	Button28: 
	Button29: 
	Button30: 
	Button31: 
	Button32: 
	Button33: 


